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Section A {25 x 2m]

For each question, four options are given. Oiie of them is the correct answer,
Make your choice (1, 2, 3 or 4) and shade the correct oval on the OAS provided,

1) Whatis the value of the digt 6 in the number 73887

{(He ' {H B0
() 600 (3 6000
2) Whatis the largest oad number that you can form willy the digits 0, 4, 3, 27

(1) 2043 (2) 3420

'@ﬂxzm o {4)4an

3) Inthe number, 8812, the digt6isinthe _place.
(1) onas ) (2 iens
(O) thnG: adas {l\ul: [ERENTIAY ands
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9) The difference betwean 5899 and 7111 is
AN = “
(1) 1112  2Press

(3) 12000 () 13110

10) 5342 - = 5059
sy i) . S90)
10 243 {2y 347

[3) 509 | (414745

113579 [:] 3= 500 - 40 + 5

12) Multiply 315 by &,
(1) 1809

@) 1850 () 1980

&)
~
=N

13) In 5180, the digit 8 has the vaite o

(N 8x1 _ »{/},‘%\ 10
3y8x100 -~ (418 X 1600

14Y Which of the following has (ho same vaiue as & % 67

(N 5x5x5%5x%5
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3)5+5+5+5%5
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20)The bag of apples weighs

2kg Bg

o~
-
s’

21) The tolal mass of Parcel A and Parcel B s

(1) 380g

(3} 880g
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Tha g"apn shows the number of pras that a csfeland sold on 4 gifferest 03vs 1ast wadk,
Use it to answar questions 25 {0 25

. . S S
Number of pies sold on 4 days |
i
n
o
B
)
L
2.
£
N =3 N
1,‘._, Pl
! Thursday Siiday Katirdav sunday |
L - . R
23) On which day did the cafeteda sell the laast number of plas?
| (1), Thursday (2) Friday
: {3y Saturday 4 SHunday

20 bz the eumber of pias tarcit did on Fogay”

- 24) On which day did the cafetena se

(1) Thursday o (@) Frigay

{(3) Saturday Vi Sunday

25) How many more pies were sold on Saturday
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(3 20 4y 25




Section B {10 % 2m o= 20my
For each question, write vour answer in the boxes provided,

268) BExpress (Be value of & tons and 7 hundreds 1 numerals,

.

273 In the number 2895 {ne digit

_. has the smaliest value.

+aw e

|

28) What is 458G more thap 271072

g

20)UBT0 - T A0

What is thie missiryg numbey in The box?

NSO G VA

30} Find the sum of 248 | 879 and 4060,
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Section € 130m]
For 2ach guestion, wiite youy anawer it the spacas providad: Show alb woiings
36} Janet hus 1237 stickers, Her brother has 302 raore stickers fhan her, ‘4ow Mty

sfickers do they hava aftcgether? [3m]
{1 miadk will be given lothe comect modal drawin )

7>
<3
e

A Gaker made 192 cookies. He ;)U{G couies it each packel.
§‘1‘W 1 packats of cookies will there o 7 1307 T
{1 mark wili be giver ta the correct mode drawn )

TiiG;
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Janice had 75 puppeats that she wan (s o give away 10 hat 2 cousing
Sean, Sharan and: Sheman. Sean-and-Sharen chose 23 rﬂm')eis eam

How many pupoets were left for Shamnaa? [4m]
{ 1 mark will ba given fo the carrect modyi drawn
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39) At w 3day camival, 2685 prizes were won aach day daring the first 2
dé s 0n the last day‘ the number of prizes won was the same as the tota’
- number of piizes won.on the first 2 days. Whatis the fotal num

won on all 3 days? [4m]
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40) Thie qardener
tilie piants He planfad was 99 more th:m Wi

40 rosemary nlants, Whatis the & 2?! in
Jays? jam] '
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41) J:!‘ﬂ(_, h’iw R 79 folinops,
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How many ko ll;
IiFhe sold 8 pan

o
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plantzid 52 wiip plants on Zatu .da». Gn Sunday,
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ay, tha number of
at ne didon & aturj‘JnA;‘ He also
rber of plants he pianted on

Ang,_

acks- them equaily info g packels
are there jn eanh packsl? f2m]
.now many jollivops had he feft 2 {2
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42) Magagie has 38 beads. Her cistar, Megan, bhas 4 times as many peads as

her. Their mother has 3 timas as many beads than the sistars [ia

altogether.
) How many beads dows Megan have?
) How many beads does their mothér!
I .
Uil

How many-baads do they.have atog
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43a) Peter and his sistar hava $50 altogether. i1 eir father gives Pater another 510,
Peter wil rave a4 nilch money as his <Ma ~ Haw much money Goes Fetar
pave at first 2 {2m]

Ans: -

PR s

43D} Mrs tan ;"muq?‘t“f“%f sweats: If.shegave, 2 swaeis to each pupilin. her class
SHE WwWould need & sweets more. How many cuplis were thoe in her class 5
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PRIMARY 3 MATHEMATICS

28) 780

1) 2

2) 3 1Ty 8

3) & BY 24800
4) 4 27) 691D
5) 3 20}71235
a8y 4 AN 5493
7) 4 3723 5192
3) 2 33} 4581
9) 1 34) 39
10) 1 35) 172 v 4
11) 2 35) 2732
12) 3 37) A2

13) 2 38) 29

A 7 Y 10120
15) 3 4y 263
16 3 ALY 1) ol
17) 2 52) iV 152
18) 2 i1) 570
10) 1 iii) 780
20) 3 43Y a) ¥ 20
21) & b)Y A2
22) 1

23) 1

34 2



